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Hg 0 C1=1) X () 5K — B 5 %50, 7T 459 1 187 1 4 0 #3322
v—(;—:: —wAsin(wt+¢) (1-2)
P i [1] SR B A5 40 1 16T 16 i 2 A o 32K
a= d—=—w “Acos(wt+e) (1-3)
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AJ UL, 40 A Al 7T 1 e g e, HCRE | ﬁﬂxﬁ)ﬁﬁlﬂl«lﬂ#mﬁﬂﬁﬁ
P P[] 85 30 1 2 A
3. il 3 A i 4R Bl i R AE B
] i R 3l M Rk (1-1) A LUF — 46 i BRI FFAE I 9
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I 20 ) 1 8 Y488 40 L A o K B S R O R . i R S ke
alyf 5 55 , (6] I 0 465 HE AR sh W UK 32 B L . i R AT el A B AR A
(BPAE ¢=0 B R BHWIIK B AL FE 0 A BE 0p) R5E . HE e=0 LARK
(1-1) F1(1-2) , 77§
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v, = —Awsin ¢ (1-5)
K b w20 05 Fs AR, 4%
”0
A= |xg+— (1-6)
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(2) A T B v 5HAHE
i 2 W Al — K 58 2 i B 5 B B B ) B R AR S 9 B, LA T
TN . B —A T R SOR 58 4 | FOR RS . X T A
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x(t)=Acos(wt+p)=Acos[ w(t+T) +¢ ]
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a)=7w=21'rv (1-9)
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EEEENZ ¢ /2 SRS R T Y ot+e. ot+e FRONHE AL, A4
ERBENERS RSB KGR E—-ABHNER
i EaRE, 455 0~2m WK — D MALE X R, Ik 1-1
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Keox(e) Foo(e) (IR # 0T DLl HofRsh i kA9, B -1 WSRO RS) M 2
K 1-1 FrR.
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7 3 B2 50 B B BE AR , B B R/ S T IR 3 9 F LR o SR,
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Ap=(w,t+e,) —(wt+e,)= (0,- @, )t- (@~ ¢,)

BRETE 0, #0, NZHE ¢« TZELK.

TR F A IR 3D, M2 Ap=0,— ¢, &R
B ¢ LR tE R, B A LR WA R 1 PR 3 B9 W AH 22 . AHAL 2210
FEAE ] LA 15 P A 187 38 4R 3 19 25 R — B, BB 1A BB () i 3 3%
- iy {3 B T EL[R] ) 52 3l , A 6B R B B0k & 8 [ 0] B 608 1 %
KRE,MERE—DETH—AEE (SR —2& . FEifie Lk
&L :

1. [A4

4 Ap=2kmw k=0,x1,+2, B, FRHEA 0 8 I= 3h O A AH , &
N E AT IR R [ 4, BY (] i 28 o - 5 7 & i HL (5] )32 3l , H H [ i
F3k & A 5 7 1] i (L 88 i Je KR, ZE A B0 7, BT 4R 3h 2 R 5¢
—F, mE 1-4 Frs.

b3
a4
1 1-4 lﬂ*ﬁ

2. [Af

Y Ap=(2k+1)mw, k=0,+1,+2, B, FRFA T IR 3 K
i, 2R B AT R i 283 S 8 5 5 {EL je) AR B 1) 32 3, 3 L [R] 2]
KA H A 7 1) LR 1 B R, ZE B OL T, B 4R 3 2 8 52
MR, A 1-5 frs.

B1-5 S

3. MRl 5% )G
4 A WUH At (B B, B9 18] 18 iR 3 BEAS [ AR, AR S A . dn
R Ap=0,~¢,>0, MR A1 1 ik 3 L5 — A R IR sh 748
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1-6 Ap=¢,~ ¢, =3n/2

fr F AT Ag s B0E BLHE — A~ 181 8 P 2 L 58 — A 1 3 9= 3h 76 A fiL

E%JG Ap. MR Ap=¢,— @, <0, W 7R85 — A i il i 30 HL 3 —

ANTRT R ShZE AR O BT | A |. AT ERVE S A9 B ]
At=(@,—¢,) /@ (1-11)

EEAERXMUES, i THEN RN 2o, B LEATHE
| Ag | BYMEBRAE = L.

B AEE 1-6 H1, Ap=p,~¢, =3n/2 , TATE W A UL «, B
it x, WARALHEERT 37/2, T E R Ap=37/2-2n=-=/2, B
x, BIAADL LG x, BAHOLE G /2 SUE x, BOAEDL EL x, A AH 17 88 Al
/2.

=Y. { AV

AR A (B SR 2 78 A 4 A [ Y i TR 3 B 3h 1) 4 B R i)
i 1 L AT AR R R A Rl Yy B AR i P 0 . i, A 1-2
AT LA H T AT W R 3l B 1A, S E £ AR O L 7 8 Y A
RB AT /2, L0 BE ) H AL JE /2, i BE R L B R R
HH.




11 RSN ERFERE R

7

%, =Acos(wt+2m/3)
%, = Acos( wt+m/6)
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L SRR T
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BOFR AL B O 3 O A Hn J5L A, 36 59 33 B2 5 1) @ 7 A
B 1-9 FroR YA R AR . ol S SE AT, W0 AR m 7 AR R ( RIDAR X
F O RUALRE) o« B0 B i 52 3B i s D

F=—-kx (1-12)

B EAUES @S- kS SR L A SR A 2
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18] 18 % 30 WO B 5 75 72

BB RmIE

F9 b, (1-12) 58 a1 U 3l 19 3h fg <E R 1IE , 7T LAAE 9 18
RS A B 2 E . BMRNE IR SR R E N m # R E S A
A - i 57 5 54 (50 8% I LR T 7 1 ARS8 0 4 R B3z 3.

(2) TR IR 3l 932 3 A AL

AR A WU R AR, AT A 0 A Y o R Ay

F k

a=—=——x (1-13)
m m

T EREIR T b A om B O IE(E R R K E Y S A
W o BV R, B '

, k
w'=— (1-14)
m

= (1-13) /T A
a=-w'x (1-15)
A C1-15) BB T 18] 8 4% 3h 1) 3z 3h 2% e AE , B A 187 385 B 3l 19 4 1K
8 0 3 B2 5 052 B B AE LG T J 1) A . B LA R R AL 8 Bk 3h
HUFR A TR 1 iR 3.
(3) T i i 2l 1) Bl 5 A
T a=d*x/de’ , K (1-15) (T 5 1§
EZ—'HU x=0 (1-16)
K(1-16) F A B IERZN BB 5 72, th & M I 3 B9 — 1 45
fiE 5.
1 Vi 4 3l B ol o0 T AR A R R A R 9K I X R R OB K .
XA (1-1) 8
x=Acos(wt+gp)
X L 2 T 1 U 3 5 3 2 O R (RGESD)
RIE=MEB SRR K R e’ =cos g+isin 0, W] & 4k 30 1)
THBOE N
x=Ae'""* (1-17)
MEBERFREERS), 28 A6 B R fE.
(4) HA¥EH=T 0 FE A MR
13 (1= 14) 75 21 38 36 P 150 70 1 i 3 1) A R g
w= |— (1-18)

CEHMIRS RS B S EA WY EYE A, R IR E E & &
2 MIXE R4y BN A [ A A A E A R
yeBed (& (1-19)
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) 30 A A, AL D o ) i R e A TR e B R B0 A
WA T, o o e A A 5K (1-20) TSR MY A
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B (BRI Aebr) 0 R IEfH . 2EEZE S W MBLMHL N F, AE
. XA S F iR s sh g AR i Ul 1), K/ i AE X — V)
fia] B 53 i
F=-mgsin 0 (1-21)

SRR F B945 0] -5 BLRE 09 18 75 1) A1 Bz, 3 16 5 5 00 5
2 0<0 B, Jy F Sy 0, FoAG 1] 55 B0 RE 1E J7 1) AR [, 60 e SF-
f . PHi, fEEEE S RP RAZBE R FEALE 0 K
152 1 F 1ESH. \

BARTE /N BE (0<S5°) BB E L T, sin 6~ 6, H 12 F it {0
FE7KF 5 18] b3z gl , A X 0 B R AL R =~ 19, A7

F=—mg0=—$x=—kx (1-22)

A (1-22) KW, BRN F AR EARHEM S HESUBH LR
Ko AR 055 5 g AR TR), FR o o e . 3K (1-22) i & FR
AN B R

REEEAE R — DGR R R S I R AL BE . X0 4 R ST
e, TFAEANELANAEM, EX AW ES).
X I M A

M= -mglf (1-23)

S Rmiz B S MO 6 B J5 AR, dHEBER 1B 8
(iR

FRATHE LA A 2 s 1  ER 3l A 0 Al Bk 3 . S (1-23) %
F A3 A W iR 30 1 Bl 0 2E AR AE B B AE T E S R  BB RLLE H T 7
fia] A .

(2) ff1 il ¥ 5 B9 32 3l 2 FFAE

BEAENEMERT REHXE A O HMIMEER e R
Wi she A

M mgl
a=7—-—70

A J B R O SRR J=ml BT LA B3RS R

a=—%0 (1-24)

K g ML REMFEER, HLLETHE -1TF# o BFTE
7, Bl

o= (1-25)

W= (1-24) 7] 5 K
a=-wl (1-26)
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A (1-26) 150 42 Yy fin 2K BE 55 #5078 A IE EC T 7 e) AR B2, I
BV £ 1 ik 3h )32 2l R E

(3) fMigRsh R &

B F AN a=d*0/de’ , K (1-26) 7l 5 i)

d'e

—+tw =0 (1-27)
de”
KR(-2)HI AERIONS HE, EHEABRS B — 5
fie 5.

IR 2 59 53 O #R B R LS R

0=0,cos(wt+gp) (1-28)

Arf 0, AR AR 3h /9 MR, 5 (1-28) 9 /i Ik 30 1012 3
EVEAE ST Wh

(4) FAAZ [ A A H0 R

130 (1-25) , 15 5 F0L 138 fif 1o 30 I 30 44 [ A5 # A

w='\/$ (1-29)
B RV A 0 A O . L A A A A TR 4 S

0] 1 g
=—=— /= 1-30
20 2mAN I ( )

1 l
T=—=27¢ |— (1-31)
v g

(5) ERME A MR

B 1-12 FroR , — AN EE I E R T AT 5K B E R 0 A
B ETR AR FR N 12, SRR P B . R R 5O
CIRUFAER O MIE T Jr i, RARAL TG (8 . 24 542 0l 25 7
7 B R A A0 R 0 B, W 2 il b 1 R 4 h R A OB, W B 4
AR AET AT Rk [ 42 5).

BERIMA B C 4 O AETE N b, IR 5h O f) e 3h 15t 4t 2
o XPEAR/ANGRIE ) E e 23 0 53 AT, 28 00T SRR A ) R iR 3l
F49 53 Bt , T A5 5242 10 151 A7 090 Oy

v

o
w= et (1-32)
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PR STRR bR AR — .

(6) R FH 5K Bl

BRI BB K4 HAANTRYE BT & B8 e e FE T 8
AED GNP 1-13 FrR DR RR I L FUPRE s (8 0] il 55 R e K
BUSE R

1-13 I L E)

1) Sang e BRI LR 3.1 m, 28 7 5E i, T 00K L AR
932 gh B 1F )& — MR ) B AT S8 i I — Sn a9 K Bl O B #f i Bk 31
S)FFF 4 O (e h it J=mL®/3, T34 O BE RS h=L/2.
H1 3K (1-34) 15 2 e B8 A0 1814 5 300 0

mlL*/3 /3 2x3. 1
T=2m s=2.9s
mg mgL/Z 3x9.8

2) CMBERBLEE s 4.0 m,)\'J'Iﬁﬁﬂj?&iEB‘Jkﬁﬁﬂz
N

1)="_'=1~4 m * S_l=5.0 km - h_l

1.2 Mgk NiEE=

147 4 3 0 B A 4

g fa g IR sl ) R AR RE & A BhBE £, FISEE £, ZH1 . LAsg
BT A6, M HEERHREKX(1-2) A RGN SHRERN
Ek=%mvz=%mAzwz sin’(wt+g) (1-35)

IR G WiRS s ke
EXE ;e 0 T 5 A R 2 U 94
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T 1
E, =3-kx' =7kA“ cos’ (wi+e) = TrnAzw2 cos’( wt+p)

(1-36)
PR AR 4 Y S BB B

1 1 1 -
E=Ek+EP=7mvz+?kxz=—2—mA2w2=7kA‘ (1-32)

A (1-37) B iRz A RE BAFME, A IRIMAER S
R W8 A9 7 IRIE B, B E TR AL B AL M Bh R, S T ROR LB
W AEE . BT REAZINIER, I BN I HARSF S, 8L
IR Bl L o, B AR Bl Rl R AR S B I 1 R 8 A R A, AR A
P13 2 0 B8 5 A b A0 S 1 T A, (R R 5 1 R BB B E E R E
RAERZHNBRE S HEER A LA, A 1-14 iR . X A5
s AT H AR TE X0 ik 2, B e .

WM RSB S EE BB AR SMBHX
WA 1-15 iR . fE— IR ERER AN E, RFFAZE .
FERL g « i A BEFIBIBE A W th P I BrRm . MLk
F+AF-A B R FOSIRE R T T HREIZS) . k7AW RE
3 4 B il 2k B 3k B RE TE R Y X, PR O 308 B 4R F 4 3 BB L
b B AR TTAX R S BT RE A LT SO0 A R TR, AT DA
P il 28 BT I A I BE 42 i E A BB B K A X8R, 33 i 2 AT I
SR T

il (1-37) 7 5

[2E [2E0
A= T— T (1‘38)

A (1-38) YW i R S M FRIE B IR IR b RAEM VIR RER E, B
SE - AR AR TR 3 Y12 3h TR R 4R 3h R 4T L RE
B R/, B0 U0 S MR Bl B 5 BE . X 3 SR 1, el 0 2 %0 0
ERXR. A

B 1 1
Eu=?mvz+?kx;=7k/12 (1-39)

%

BEEP(1-6).

15 98 4 2 ) BE S AE

|<- T2 -’1
X OO Xe
0 i B
| |
\./ \/ ¥

114 1] i 4% 3h () 3h fiE | ¥ BB
LR Bt 55 ] Y 5 R B 2%

t

=

=

E
E

Ey

E

A A X
B 1-15 & i 4k 3 0 3 Rk L P R
MERER 5B X R ML
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2 e ¥

— B ] 2R A A Py B f(e) HE— BEi ] T P4 A9 F i e
CH

=iTJ':f(z)dz (1-40)
i3 (1-35) F1X (1-36) bl 5 76—~ & 39 79 19 3 i AT 34 g
F S Y48 53 5 R
}_5_:=lJ’TE (t)de

R —— nw ( ) it
lrl (
m A S wt + (p

TR
= —mw’d® = —kA®
4 -+
P T
Ep=fE(t)d1

1 (71
T U;kA cos(wl+¢)dl

=—kA‘
4

1 2
=—mw A”
4

Al UL i v 4R 3 89 3l BE -5 HRE AE — 1 R 9 B9 F S (AR SF

ENHET B —F.

) 12

A 1-16 B 78 J— 6 K 1 T L 19 PR T, 9 9% 10 2 ‘ g
R k=24 N - m™ FFRYAR TR m=6 kg. 2yikis | Sl ey
ILFE A B, LA — K AE S F=10 N [ Z2 46 F ik, = A T
ZH PR A ER T 5=0.05 m i LN F. M T iz B1-16 #11-2/

BB 72 75 ozt 1 B T SR i SR i 32 3 5 .

il BB B T N

x=Acos(wt+¢)

Hf w=/k/m=/24/6 rad - s' =2 rad - s';

Hp

1
Fs=—FkA®
2

MYKIE B -A SR IR B o=m. | B

T8 A 7 X5t A T Al A o 45 T 5 S iR A=,/2Fs/k =./2x10x0. 05/24 m=0.204 m
FRrRAFAIHLARBE , B LA M9 (ks 3 B i A YERZES RN
s, X S RE B AT ALk AR W SRR EE. x=0.204cos(2t+mw) (SI#fiL)
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5 1-3

— ik m=1 kg YUk A AU 0=30°) el R L, 83 A v i R 48 5 i T e
MEWE SEERB k=49 N - m™ B8RS E , WA 1-17 B7R . K4 1 oly 9058 oo R B 22
00 B 1k BBOF T e iR R e IR Eh R . (BRI R . )

(b)
1-17 @ 1-3@

(1) BhA RBFFER S, 02 A | (4) BRBY IR :x =Acos (Tt+e,)x =
1-17(b) Frzs. 1 A cos(Tt+ep,) (SI Hifi)
Har 37 |
-5 4 B i SERELE i: (5) e &M x,=~1,,%,=0 RE A
| _mesin 6 _1x9.8x0.5 - B RA
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